R MH (ME)  Bfimm
1 | t&8 F12 1.2
2 | #aAs F12 23
6760 3 [ waw F12 6
3630 , 3130 L | HbEE F12 12+16
! 5 | AL F12 16
65 TX500=3500 130 6X500=3000 65 e F12 12+16
A IHESEY TrY F12 3.2
e 8 | #igm Y10 16
9 |t Y10 16
THEZ=S Y10 1.0
1N | 2@ F12 2.0+3.2
REER F12 2.0+32
S 3 | RPERK Y10 1.0
n 1 | FRAN— F12 23
" 15 | BhhnN—- Y10 0.7
= 16 | BEPR F12 16
. 17 | BE® F12 12
- 18 | BR/S2V Y10 0.5
19 | SEEEN TBM)AF- | RUIFLYI2 -4 4O
20 | B F12 0.7
< 21 | BRAG Y10 0.7
(Wa)
& 22 | R EE Y10 0.7
A 23 [ 3-r-28 F12 23
26 | YrvI—(Z5v ) 208 0.5
25 | Srvos-nin- F12 0.7
2 26 | B vy 9—L—Jb FIIZDLALBEIM
= 27 | L —)vibHER PNV ABEBBIM
o F12>BBE0s » <@g (JIS G 3302)
S Y10~ BRBI-5% 7 VI -0 Aok bo FBRUIS G 3317)
5 208~ R EBRMERD > TBRUIS G 3312)
\\s]
Lo A
\
HHEOE[O AREOS[O =
100 625 3313 625/ ||62.5 2813 62.5 100
192
6768
| 6920 | | 6055 |
80 | 6760 | 80 [ 140 | 5775 | 140
= J\ | 1000
- N — -
i I %
\02 LN
& I
n 3 & LN s
fig A {8 3 N
O e o~
= - -
=
X = = = =
T vxmxs ,
VGL o
N =)
e+ v 59— ME>+ v 29—

AR

HIES

<HsR> S=1/60

~ — IEEEN

GRN—3631-57H

O&E#BEO~T3%:3313(2813]1 x 2118(mm) OFKE#5:39.04m (11.831E)

s 85 i 22 B 1 PR




